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AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2

 / ndf 2χ  10.64 / 12

p0        0.006521± 0.003494 

 / ndf 2χ  10.64 / 12

p0        0.006521± 0.003494 
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AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2

 / ndf 2χ  6.893 / 14

p0        0.006522± 0.00347 

 / ndf 2χ  6.893 / 14

p0        0.006522± 0.00347 
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AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2

 / ndf 2χ  2.087 / 6

p0        0.006542± 0.002825 

 / ndf 2χ  2.087 / 6

p0        0.006542± 0.002825 
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AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2

 / ndf 2χ  2.906 / 7

p0        0.006522± 0.003468 

 / ndf 2χ  2.906 / 7

p0        0.006522± 0.003468 
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AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2

 / ndf 2χ  5.407 / 7

p0        0.006522± 0.003582 

 / ndf 2χ  5.407 / 7

p0        0.006522± 0.003582 
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AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2

 / ndf 2χ   13.7 / 12

p0        0.006553± 0.002969 

 / ndf 2χ   13.7 / 12

p0        0.006553± 0.002969 
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